Enrofiment NO....oei e viesnrsnes
Diploma in Engineering (Polytechnic)

Fifth Semester Main Examination, December 2021
Work Organization & Management [CED503]
Branch-CE

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.
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Q.1
(i)

(i)

(i)

(iv)

™

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9

faeneff yema w go fad 98| vorw g v @er afard 2
Y F. 2 W 9 aF # el uig &1 9ax” = Afvard €

Multiple Choice Question / a& = yei— [2x5=10]

Frederick W Taylor intuoduced a system of working known as -

BSRe S TR 7 TR A @1 TH JUITel B WA B o v & S S 8-
(a) line organization / &g W7eA

(b) line & staff organization / @g4 iR e @ifeA

(c) Functional organization / &rafd®s wres

(d) Effective organization / ¥/l w84

The area under the beta distribution curve is devided into two equal points by -
Qa7 fEaRer 9% 3 fqfa 87 Y IR A F Rl fvar a2

(a) Most likely time /@@ aftrs wardn w9 (b) Optimistic time / amenardy wag
(¢) Pessimistic time / fRTemaid) wwm (d) Expected time / aniféra wwa

The overall | change of an organization at the site responsible for the execution of the
works in -

FrEl B fuRd & fau RTRRR 9158 R U6 Wed & 9Aa 99 8-

(a) Executive engineer / &rdamt afvg= (b) Engincer /gdlifr

(c) Junior —engineer / SffiR g (d) Assistant Enginecer / @Egs g R

The first stage of a construction is -

we fomior &1 agen @vor 2

(a) Preparation of estimate / JgA @ dard
(b) Survey of site /@13 HT Fderor

(c) Initiation of proposal /Y¥ra @1 FwaTd
(d) Preparation of tender / ffdsr & dard

The time with which direct cost does not reduce with the increase in time is known as

/T wHg & W1 998 A 9fg @ A T AT BF T@ 8 @ 9 @l o 8 —
(b) crashtime /37 wa
(b) Normal time / WA w9y
(¢) optimistic time / anerardy TRa
(d) Standard time / are Wy
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Q.2

Q.3

Q.4

Q.5

Q6

Q.7

Q.8

Q9

(a) Explain the importance of management in civil engineering industry .
e gofifaRy Sl & e & Aewia &7 wHEmsd |
(b) Explain the main function of public work account system.

e Fmfor okar vgfy &1 qe e weEsEd

(a) What are the rules for filling muster roll ?
IR AEE v B foram a7y & 2

(b) Draw hierarchical structure of state P.W.D. ?
I it ffor fmT & [es @1 Yeg R weEy ?

(a) State stepwise procedure of conducting action ?
et wfear &1 FHeg aofF g ?

(b) What are the main causes which led to accident in engineering works. Explain in

details ?

FOfIERT PRl & SRME B9 el gl @y ey @ @ R § gage 2

(a) Distinguish between works is measurement book and standard measurement book

B A9 gRaE O A WY gRAOsT ¥ e wHegd ?
(b) Oifferentiate between earnest maney and security deposits .
eRiER W 9F ufagfa s Al § siaR e @i

(a) What are the important functions of trade union? Explain in detail ?
M [Y & Asaay & war 8 AR W wHEEnsd |

(b) Explain M.A.S account ?

TH.T U0, TohIaC &1 AAsgd ?

(a) State and explain T.A. rules.
d @ fam ga"y ok wEmEy |
(a) What is imperest, state and explain types of imperest.

TS &1 B 3D ThR forkadr qwsmgd 1

(a) Explain security deposit ?
uferyfr I B g |
(b) Write measures to improve efficiency of worker ?

Hftel 61 sdgwan ¥ gurt 3 Iurar @ fafd ?

(a) State and explain advantages and disadvantages of contract system ?
3B W H B B YO B @ 1§ il B fafay va amemgd |
(b) Explain Bar chart.

IR I T AHATEY |
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Enrollment NO......coveiveriieier e
Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, December 2021
Transportation Engineering — IT [CEDS04]
Branch-Civil
Time: 3:00 Hrs : Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
e : faameff yrua w 5 fad 78| yom ueT ga aear sfard 2

YT . 2 9 8 a& U f g &1 SR 397 afard 2

Q.1 Multiple choice Question / R gz [2x5=10]
() Which is not a flexible pavement?

FH A A TeF T8 77

(a) Concrete Road / dimic a5 (b) W.B.M. Road / s=gfiva @&

(c) Bitumen Road / fagfa @& (d) Earthen Road / ficd &) W&
(ii) The minimum width of pavement of National Highway should be -

G GEET A Uy @ BE 9 FH IS gl gike—

(a)4.7m/a7 W ) S5Tm/s7

(¢)6.7m/67 W (D7 7m/77 W

(iii) While calculating site distance, drivers eye above road surface is assumed as -
gfte 1 B UM BRI ARG e ATAS D) AW DI HATS TP D) WA 4 AN IR 2—

(a) 90cm / 90 & (b) 100cm / 100 ¥
(c) 120cm / 120 | (d) 150cm / 150 |

(iv) Dowel bar is used is

Sfdel aR &1 SUaT fhar wr g —

(a) Construction joint / €& wrs (b) Expansion Joint / fawR s
(c) Transverse joint / 3rguser Wi (d) Vertical Joint / afdaa siie
(v) Mud pumping is associated with -

Fras dftnr & A e g § ~
(a) Tarroad /AR I8 (b) Hill road. / W= Wew
(c) Village road / 7ifa &1 wes (d) concrete road / FHide B ASH

Q2 (a) Describe the classification of roads as per Nagpur plan .
AR FSF AT B AR TSB! B G 0] a7 Ao Ho |
(b) Name and explain drawing required for a new highway project.
TE T WSS Aol B AEwE S8 B T f@ay AFegd |
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Q.4

Q.5

Q.6

Q.7

Q.8

(a) What is camber ? Give the factors affecting camber and explain types of
camber and its limit recommended as per [PC for different pavement.

TR Ul gl & 7 G @ WEi] el dTel BNl Ul 99@ TEN B §TER 5,
faf=1 terie o) WY ES® e S e T g @ e ferfa |

(b) EX[)LII]‘I why widening of road is required also explaln their types.
UES HHEROT RN SaedE el & WEHEE Al S90S USR B i gl |

Name the different test performed on aggregate and explain which is performed
to test hardness of aggregate ?

el W= fg 717 A= Wil &1 9 @B THG B fed) B BSRAT 1 adeor
T B Ay I a1 aReror fFan S 2 |

(a) What do you understand by prime coat, seal coat and tack coat ?
wgH B N Pic AR SH DT W AT 7T AR 2

(b) What is super elevation .

T a1 B & °

(a) Explam classification of traffic signl also explain their importance.
FS& whd B Afmee B wEHAEd | $9B Hed B A Wy |

(b) List various test on bitumn. Explain any one of them in detail.

g R e o7 ae gdemll @ gfa gl fad w ol o R @ awesd |

What is CBR value ? Explain use oi CBR value in design of flexible pavement .
Wdia o g 2 ? el wew @ sifvaer § gwS ST o wemEd |

Write a short note on —

e wr e fewod forfag —

i) sight distance./ gfic g

ii) Pre mix carpeting. / Nifidq sRufeT
iii) CBR test / 4R geror

iv) Traffic survey. / eifthes wderor

Page [2]




Enrollment NO..covvsivveriisiriiienes

Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, December 2021
S.D.D.-1 (RCC) [CED505]
Branch-CE

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9

e : farfl gy w g5 ol € | vem uve wd eer afvand @

Q.1
0]

(i)

(i)

(iv)

YT F. 2 W &, 9 a9 ¥ &=l urg &1 SO} 7 aifrard 2

Multiple Choice Question / axifTs yem [2x5=10]
The minimum clear choice for RCC column shall be -

IR AW A FHidA & AT 7gATH FISCT Fal gom

(a) Greater of 40mm or diameter /40 A a1 =g g & sar

(b) Smaller of 40mm or diameter / 40 T a1 =g ¥ Srer

(c) Greater of 25mm or diameter / 25 R a1 =g/ & 37

(d) Smaller of 25 or diameter / 25 &Y a1 <ar™F ¥ BT

[f the length of an intermediate span of a continuous slab is 5m, the length of
the end span is kept

e U HeAT Tha AT Fegadt 3@ 1 dard 5eex T ar 3¥g wafy &

GERRECIRCIC
(a) 4.5m (b) 4.0m
(¢)3.5m (d) 3.0m

A foundation is called shallow if it depth is.

U HIq Y IUCT FET ST § IR A TS & A

(a) one fourth of its width g&$r atsr$ &1 v wlers

(b) Half of its width g&ehT TtsTs a1 3mar

(c) Three fourth of its width s Tt gwhr isg & v
(d) equal to its width SXElY 1 3T Alss & fow

The diameter of main bars in RCC columns, shall not be less than -
IR @ FloH # AET IR F A @ FF A Qe aRT
(a) 6mm (b) 8mm (c) 10mm (d)12mm
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(v)

Q.2

Q.4

Q.5

Q.6

[F T and R are tread and rise respectively of a stair ,then -
gie T AR R v @G 0 HAY oot AR 33 §

(a) 2R+T =60 (b) R+2T =60
(a) 2R+t =30 (b)R+T =30

(a) differentiate between working stress method and limit state method
FEENT diaea AT v @iar e [/ & 3=ax Tose fifFw)

(b) Calculate the moment of resistance of a been using following data :-
b=300mm, d=550mm, d' =50mm, Asc=350mm’ , fsc=415n/mm? 4
Ast=1050mm? .(use M, councrete and Fe500steel)

UF A w1 FEAd ifwst & @ gfy et i oaoem Hifse
b=300mm, d=550mm, d' =50mm, Asc=350mm’ , fsc=415n/mm? s
ast=1050mm*(FTHc My, T TET Fe500 )

(a) Describe assumption in limit state method
WAea feud B $r Aegant # quie Hifaw
(b) calculate the position of neutral axis of a reinforced concrete beam

250mm wide and 550mm deep overall The area of tensile steel is 1024mm®
and m=18.66. .

T IR AL A1 R & 3R a7 f1 ud Auiia $ifev afe e
25018, =it 3 55018, g AT AT §| ToiT SEAT F AHABA
1024 AR, gur m=18.66 &

(a) Design a column using limit state method housing an ascial load of
2400kN and unsupported length of 35m using M20 concele and fe415 steel.

T T @ A By @ &1 3@wens ffdse G w 2400 & 7
F T 9R o9 w1 B AR AfAus dFes 35 #HY § whe M20
fe415 SEIIT T TA9T foham I &

(b) Differentiate between long column and short column.?

oY FH UE A TR A 3T TS Hifaw 2
(a) Explain under what conditions doubly reinforced section are used .
g yafalsr @l eRar &1 39T foha aRfeufaal & frar smar &)
(b) Explain types of welded joints .
3fISs S4a18e & TRl & THASNSY|

(a) Explain builtup colums how they advantageous ? .

Tufed &9 H AT |, A F AFRT §
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Q.8

Q.9

(b) Write short note / dférq e forRay —
(i) Characteristic strength & fFci&es

(i) modular ratio 33{\1'3?]\?»!? GG

(a) What in RICHTER scale ? Explain in details ?

RNFIRN et F31 § 7 faazor & s 2

(b) What is staircase ? Explain any one of these with suitable diagram
Wy Fa1 & 2 9gFT W & Frofs A s A geEsmw i
3o &Y |

(a) Calculate load carrying capacity of column ISHB 225(@.,422.8N/m if the
effective length of column is 6m (Take fy=250n/mm’

FIGH ISHB 225@,422.8N/m $ HR g1 &7dT A Thiad L Iy &9
# THIF TGS 6m g (fy=250n/mm2 o)

(b) Write shorts notes :- \ferq die fafay —

(i) Slenderness ratio Fl?r:i’HT 31@"11?[

(ii) Lacing and battening STTei& Ua 9edl (aIf8eT Ud Scfaan)
(a) Define shear reinforcement

FeTTelT FESTRIUT I IR X

(b) Write design step for one way slab in LSM ?

T U0 TH # Teh % Foig & fov 3asa mor o
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Enrollment No... e sirivenen.

Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, December 2021
Irrigation Engineering [CEDS01]
Branch-CE

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9
e : feneft yeaun ) o fod =@l | vom gy g o aifyand @)

YE F. 2 &, 0 q% A ol wra BT 9w 0 aifrard

Q.1 Multiple Choice Question / T ygd [2x5=10] Marks

(i) The consumptine use of water for a crop -
Od B Y U T I SeEe —
(a) Is measured as the volume of water per unit are
uf 18 &F A gl B A B v N AT o ?
(b) Is measured as depth of water on irrigated one
Rifoe &3 W Ol @) TERE & w9 N AT o ®

(c) May be supplied partly by precipitation & parthly by irrigation
Aiftrd w @ Tt ok ifw vy A fiaE am gl @ or T
(d) All the above /SwRiad wfi

(i) Canals taken off from ice fed perennial rivers are known
% 4 F@ IReART e o frarel T2 9w @ o W ® -
(a) Permanent canals / %emrft el
(b) Ridge canals /Rg &=
(c) Perennial canals / IRgAMFY ¥
(d) Inundation canals /91 &3

(iii) In grauity canals, F.S.L is -
THRAY T8 # UH T U & —
(a) Always at the ground level /giem S TR &)
(b) Always below the ground level /&xem 5™ wR &
(c) generally 4 to 5 meters above the ground level /midR R 9H & TR A 4 ¥ 5 SN
(d) Only a few can above the ground level / S wR A dad $B I IR

(iv) The field capacity of a soil is 25% its permancnt wilting point is 15% and specific
dry unity weight is 1.5 if the depth o root zone of a crop is 80cm the storage capacity
of the soil is -

U el &1 & du 25% 8 39aT Rl T 15% ¥ o Rt g geT AR 1.5 2
Ife 5l vod & oS 83 & ey g0 7, A A &) were anar & —

(a) 8cm /s A

(b) 10 em / 10 WY

(¢) 12cm/ 12 9

(d) 14 cm /14 B Page [1]




4

Q2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

If water table is comparatively high the irrigation canal become useless, due to -
i Td wWR JaTos & A s @ A R TR aeR 8@ 9 @ s eror —

(a) Large amount of seepage /<! #i=r # R

(b) Water logging of the cultivated area / &l arel &= &1 Td AT

(¢) Uncertain water demand / aifR=a ot &) 57

(d) All the above / SuRIE Wt

(a) Define basin method of irrigation

Rreg @ AR R =7 ot it |

(b) Write the three advantages of irrigation -
g & = @ fafae -

(a) Write the surface and sub surface irrigation method ?
Hadl T o W Riwrg A &1 fafag)
(b) Explain the irrigation system ?
Riard yormelt &1 Wy ?
(a) Define hydrology ?
Setfas= &) afafia Bk ?
(c) Write the name different type of rainguage
=T yoR & i & =W forfay |
(a) Explain hydrological cycle with the help of a sketch
el 7% B faF @7 wErad @ awen |

(b) Define consumption use of irrigation water write the factors which affect the
consumptive use of water ?

fiaE e @ STyt & aR9IRa AR, 89 R @t e &Y o &1 @ua @
IR B 2

(a) Define GCA & CCA .
o Rifud &7 ok o= Rifad & &1 aRnfya @i
(b) Define time facter & capacity factor .

R OIS AR R T[onid @ gRART PR |

(a) Define duty ? enlist various factors affecting of duty
<Y B aREIE ST, $Z &1 Il F g SRS B FIaEg P |
(b) Enlist six various equipments used for construction of an earthen dam ?

721 dfr # IJuAT B Aarel B RfE Tt B g Fifw |

(a) State the six factors to be considered for selection of a site for a reservoirs .
TR & [ S T899 B GHT W Q9 A B: BRGE B) falaw
(b) Enlist and explain five investigations to be made during the final survey of
irrigation project .

i R & @ ford 31 fasA wdet w37 @y S a=ww B o @ 9 9 )

gt &1 quieg BRI Page [2]




Q.9

(a) Explain the different causes of failures of an carther dam. (draw sketch where
necessary ).

QT A B Haha B B A Frol &1 avft @iy @@t e @ fim T |
(b) Why the cauol escape is called the safety value of canal system ?

e Rived & TER AREE 31 T8 BT qRan a1 7 Fer o @
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Enrollment NO...cveciiiniereiinninns

Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, December 2021
Q.S.C.-1 [CED5(2]
Branch-CE
Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.
Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9

e : feemeff yeus w e ford T8 | vom e g o aferd @
UF H. 2 9 F. 9 9% A fHd wiw &1 9w < afvard 2

Q.1 Multiple Choice Question / T s W= [2x5=10]

(i) Write the units of measurements of the followings -
FmifeiRag @ mg @& gad fowd -
(a) Plastering on wall fearal w wmex
(b) Wood work in door, window, frame Rasa! graro &) diae # dad) ard
(c) RCC works 3R +1 t =id
(d) Steel work Reat ard

(ii) Write the units of payment of following -
100 T A, AFH B @R B v w6 @ Y AN wWoRt @) e gl —
(a) Damp proof course /e et Tgar
(b) Brick work in masonry ¢ # g€ @i
(c) Earth work in excavation Jzg # 78 &4
(d) Carpet area Tl &=mhat

(iii) The Expected out turn of 2.5¢cm cement connote floor per monsoon per day -
ufd @ gfafea 2.5 af dric Fale vl &1 Ul Swued —
(a)4.5 sqm (b) 5.0 sqm
(c) 7.5 sqm (d) 10 sqm

(iv) The order of booking dimensions is -
BT AT T EH R -
(a) length breadth, height / &g @er Sa
(b) Breathing , length ,hight / der a1 o
(c) height, breathing /S=1g @<, @
(d) None of these /377 3 &g 78

(v) Pickup the item of work not include in the plinth area estimate .
feerer &3 & A A Wi 7 5y Ty R F) avg @Y Sag —
(a) Wall thickness dlar #ers (b) Room area ®em &5
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Q2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

Q.9

(a) Wall thickness Elar Herg (b) Room area @eT &1

(¢) Verandah area sxmeT & (d) Courtyard area amme &=

(a) What are the different types of methods preparing preliminary estimates?
UTRIE graehe $ GUR B @ [fafis gER @ oiF W [kt 2

(b) Analyse the rate faor RCC work 1:2:4 in beam Assume suitable rates ?
1:2:4 ex7 # 3R A1 A &R &7 < fazeryor PG Sk R a9 o |

(a) Write the importance of SOR

TS 3 R & e fafag |

(b) How the center line method is different from long wall short wall method ?
A AR B AR A | e Y i P9 ger e 2

Define afeiya #ifmg

i) Supplementry estimate & Wiawma

ii) Orginal istemate a1 rdama

iii) revised estimate gifar yramer

(a) Write prismoidal formula for calculating earth work.

R B g7 Bl @) wor @ o feidee 3@ fafl)

(b) State multiplying factors for calculating painting work of different types of
door widows ?

= R & Rase xarell & fad w g o1 ST & o) 7T &) FAEY ?

(a) Calculate the quantity different materials for 8cm thick cement concrete in
mix 1:4:8 in 65 sqm area ?

65 a1 W 3% 7 1:4:8 & R a1 8 9 A AfifT @wdle @ ol = aerif &
TR B ?

(b) Define lead . a871 21 &1 g aifag ?

Define lift ?

e ok forge @ uRfya R ?

(b) Write the service unit for preliminary estimate for the following.
[Asifeiliaa & wive wogem @ fod i gfve fofia

i) dam a1

i) water supply scheme Si& ye™ a1

iil) hospital sreqarer

Write short note on — 9R¥fya S |

i) - Earth work in excavation in Foundation /wd # fawR aik faaR dgaa
i) Sand filling in plinth / aRft fiefer # 7 w18

Calculate the quantity of first class bricks work in cement mortar 1:6 for whole
building ?

R 7@ & [ A TR 1:6 7 vem St €2 e $1d @) mor #ifig 2
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